= o
A & 0l & AF 2 E A A
20138 & =04 ZELHAHARNGLHMIISELES A HH
AN XS ZHOHHE ot
Hu: el FHNA MY
SPl: MEY MY NGLHIIZ SS(FELVANALHIIZSHAN) (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
XS 3O E 2,344,259 2,817,712 ANA4T73,453
FEY FHNHA FHl 2,344,259 2,817,712 ANA4T73,453
FEY 2 NYLNI I3 2S(FEY2HNNILHD] 2,344,259 2,817,712 NA4T73,453
2S5g3H)
ZEH2E NALHIS2E 45,280 42,780 2,500
201 L4l 5,280 2,780 2,500
01 At 22l 280 280 0
O 24+ 280
~ XNHYEIZ EXMoANE +g
70,000 = 2% 23| 280
02 =24l 5,000 2,500 2,500
O =322 % XA 5,000
— &3 % JIE ==& 250,000& = 20A 5,000
307 21201 A 40,000 40,000 0
04 QIZtHALE X 40,000 40,000 0
O |XH ==Z3tM Al K&
40,000,000& * 13l 40,000
g2 NAdeLdMI|= odld S 2,298,979 2,774,932 A 475,953
801 GilHI bl 2,298,979 2,774,932 ANA475,953
01 ollBl8l 2,298,979 2,774,932 AN 475,953
O oldldl 2,298,979,000& 2,298,979

- 671 -




